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[SECTION-A] 

Section A comprises of 9 questions of 1 mark each. 

A. Multiple choice question: 

1. The smallest integer is  

a. 0  b. -1  c. 1  d. none of these 

2. (-12) × (-14) is equal to 

a. 28  b. -168  c. 168  d. -48 

3. 0.2 + 0.05 is equal to 

a. 0.7  b. 0.52  c. 0.25  d. 0.07 

B. Fill in the blanks: 

4. 30m 5 cm = __________________cm 

5. If a and b are two integers then a + b is also an ________________. 

6. The product of two negative integers is __________________. 

 

C. State TRUE/FALSE for the given statements: 

7. Every negative integer is less than every positive integer. 

8. A fraction whose numerator is greater than its denominator is called 

proper fraction. 

9. The sum of two fractions can never be a whole number.  

 

[SECTION-B] 

Section B comprises of 3 questions of 2 marks each. 

10. Arrange -3, -18, 2, 15, -12 in ascending order. 

11. Evaluate: -2 × (-7) × 3 × (-1) 

12. Add: 2.9, 3.56 and 0.8 

[SECTION-C] 

Section C comprises of 2 questions of 3 marks each. 

13. Bunty weighs 52.8 kg. what will be his weight after losing 8.95 kg? 

14. A skipping rope measures 2
3

5
 m. Find the total length of 15 such 

skipping ropes. 

 

[SECTION-D] 

Section D comprises of 1 question of 4 marks each. 

15. Suniti bought 2.25m cloth for her dress at Rs. 75 per metre. How 

much did the cost her if she also paid  

Rs. 125.50 for stitching it to the tailor. 

 

 


